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full marks for the questions.

1. Choose the correct answer of the following :
(any seven) 1x7=7

(¢/” The two important ecological factors
Vd that determine the distribution of
various natural biomes of world are

fi temperature and light
(i) temperature and precipitation
fiij) soil and precipitation

(iv) light and wind
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Transitional pone hetween two or more
diverse communities which harbours
organisms of overlapping communities
besides additional species 1s called

fiy ecoline

fi) ecad

fiz] ecotone

fiv) ecotype

The occurrence of high percentage of

(el

The range of ecological conditions which
a given species is able to carry on
normal wvital activities and tolerate
vanous stresses is called the

fil  edge ellect
fii) ecological amplitude
fur)  ecological miche

fiy) ecologeal equivalent

fel
chamacphytes in an area would (i The zone of a lake which have abundant
indicate phytoplanktons is called
fi)  warm and dry climate il littoral mone
fi)  warm and moist chmale fi7y  profundal zone
fur) cold chmate iy limeetic zone
firy cold and dry climate fivy benthic zone

{d) The process of successful establishment (@) The maximum reproduction rate of a
and growth of a species in a bare area population under ideal environmental
during the process of succession is conditions along with the absence of
called competitors and disease is called
fi)  nudation iy natality
fiif ecesis fiyj  carrying capacity
{ii) Aggregation fii) Mdelity
fiv) stabilization fiv) biotic potential
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My Solubility and avalability of vanious
nutrients to plants are dependent on

fu soil plot

fii) woil porosity

{2} soil temperature
_ n':,r soil texture

'/53 Myrmecophyies are inleresting group
of plants that provide special structures
for colonization of ants and such
association is one best example of

fii parasitism

fit} commensalism
fiyj neutralism

fiy symbiosis

(i} .~ According to Shelford's law of tolerance,
< the organisms with wide tolerance limit
for various environmental [actors show

fij less chances of survival, narmow
distribution with low population
Siee

fij less chances of survival, narrow

distribution with high population
Huie
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fig) better chances of survival, wide
distribution with high population
sige.

fivj better chances of survival, wide
distribution with low population
Bize

2. Wrnite short notes on any four of the
following : d=4=8
faj Standing crop
MH:W:MI.'L:
fe] _Detritus-based food chain
Jg# ~Secondary productivity
fe)  MNeo-endemism
(i  Photograph

ot 5}'1!1]’:.!]’1’.‘ specialion
fh} Permalfrost

3. Write briefly on any three of the following:
5x3-15

jg) Raunkiaer's life forms

(b} Cybernetic nature of ecosystem
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With reference to biogeochemical cycle,

R

& Importance of studing ecological % how does sedimentary cycle differ from
pyramuds gascous cvele ? Discuss brielly vanous
ad . steps involved in nitrogen cyeling along

y & Theory of tolerance with the role of microbes
3+7=10

il Ecoiopcal eficiencies
fe) What do you mean by ecosystem

(# Edge cffect
A productivity ? State briefly the
g+ Adapuve features of plants to relationship between energy flow and
-
- Emperature exireme productivity in an ecosystem. 3.gq.1p

Differentiate between r-selected and
k-selected species. Discuss the role of
density-dependent [actors in regulating

ulatzon growth 4+6=10

&  Concepr of multidimensional niche in

4 Answer any three of the following ; 10%3=30

faj Define age structure with labelled
daagram:. Describe brefly various types !
of age pvramids as observed among

Menuon few important features that
characterize biome. Write briefly the
physice-chemical charactenst:es and

natural populations. 2+8=10 :
. . biota of any one of the terrestrial biome
ibj  List various steps involved in the Avou have studied 3+T=10
process of succession in a particular Firo
habitat. Write briefly the process of S “In all ecosvstems, the arrangement of
ecoiogical succession in Xenc ecosystem /, producers and consumers leads o
with special reference to plant development of trophic organisaton and
COMInUnIty 3+T=10 performs definite functions.” Explam

fc)  Citing suitable exampies, discuss briefty the statement.

vanous types of biotic interactions as
observed between plants and animals,
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